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PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
each sentence. Then mark the correct choice on your answer sheet.

1-  The two lawyers -—-—-— their contract and each opened a separate office.
1) resigned 2} hindered 3) penalized 4) terminated
2-  The police ordered the robbers to --——--—-- their weapons.
1) cease 2) settle 3) surrender 4) collapse
3- The nation’s economy was largely by foreign aid.
1) imported 2) sustained 3) disposed 4) accompanied
4-  Unfortunately the current law ---—--—— any improvement in the country’s trade with
foreign countries.
1) impedes 2) compels 3) exposes 4y abstains
They are using that hall to hold their party -
1) juncture 2} convention 3) intersection 4) circumstance
Talking about money now would be a -———-— from the main purpose of this meeting.
1) digression 2) detention 3) disputation 4) dispersion

7- There have been calls for the drug’s immediate -—-——=, following reports that it has
dangerous side effects.

1) protest 2) discharge 3) disposition 4) suspension
8- I have not read any of the previous chapters of this book, so you will have to give me a
brief -——— .
1) outlook 2) synopsis 3) panorama 4) prospect
9-  Practical experience is an -----—--- part of this course.
1) integral 2) adequate 3) accelerated 4} expository
10- Some of these plants are more --——--—-- to frost damage than others.
1) inherent 2) forthcoming 3) susceptible 4) instrumental

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or
(4) best fits each space. Then mark the correct choice on your answer sheet.

We have said earlier that climates are continuously changing. (11) ==-==e---- until quite
recently that elimates only changed significantly on very long time scales, over tens of
thousands of years. In the more recent past the changes in climate (12) - are a result of
mankind’s own activities. Secientists have been able to reconstruct accurately the average
temperature of the Earth(13) ---------- years using millions of individual thermometer readings
(14) —---ens —= world. The result seems to suggest that since the end of the 19" century the Earth
has warmed up by about 0.5°C (1°F ). The warmest years all occurred in the 1980s. Although it
is not yet known for eertain, (15) -—----—-- explanation for this global-scale warming is the
increasing volume of pollutant gases that mankind is releasing into the atmosphere.

11- 1) There thought 2) It was thought

3) Tt has been thought 4) There has been thought
12- 1) we have seen 2) we saw them 3) that have seen 4) that saw them
13- 1) over 100 last 2) across 100 last 3) over the last 100 4) across the last 100
14- 1) of around 2) from around 3) of around the 4) from around the
15- 1) likely most 2) most likely 3) the most likely 4)likely the most
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Part C: Reading Comprehension

Efficient market information can be shown to have positive benefits for farmers and traders.
Up-to-date information on prices and other market factors enables farmers to negotiate with
traders and also facilitates spatial distribution of products from rural areas to towns and
between markets. Most governments in developing countries have tried to provide market
information services to farmers, but these have tended to experience problems of
sustainability. Moreover, even when they function, the service provided is often insufficient
to allow commercial decisions to be made because of time lags between data collection and
dissemination. Modem communications technologies open up the possibility for market
information services to improve information delivery through SMS on cell phones and the
rapid growth of FM radio stations in many developing countries offers the possibility of more
localised information services. In the longer run; the internet may become an effective way of
delivering information to farmers. However, problems associated with the cost and accuracy
of data collection still remain to be gddressed. Even when they have access to market
information, farmers often require assistance in interpreting that information. For example,
the market price quoted on the radio may refer to a wholesale selling price and farmers may
have difficulty in translating this into a realistic price at their local assembly market. Various
attempts have been made in developing countries to introduce commercial market
information services but these have largely been targeted at traders, commercial farmers or
exporters.

16- One of the main problems with providing market information services to farmers in
developing countries is that ............
1) the distribution of products in rural areas is too spatial
2) data cannot be spread quickly enough after it is collected
3) they cannot basically function even when they ara analyzed
4) farmers and traders do not normally ncgetiate with each other
17- We may understand from the passage that market information services in the developing

COUNLTIES . ouonrrnsiinnnssranes
1} can be given by traders to farmers 2} were not as localized as they can be now
3) are more efficient by SMS than the radio 4) are increasingly performed by private
companies

18- The passage points to the fact that farmers in the developing countries .................

1) do not sometimes have any access to market information
2) can not pay the cost for market information which 1s accurate
3) have trouble in understanding market information properly
4) may.even be forced to sell their market information to traders
19- The words * these’ in the passage (underlined) refers to ...l

1} * farmers’ 2) * most governments’
3).* developing countries’ 4) * market information services’
20- The words * address’ in the passage (underlined) is closest 0 ......cociininnn,

1) * deal with’ 2) © analyze’ 3) © fix up’ 4) * locate’
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The debate about large corporations in agriculture is heightened at the intersection with the
already controversial issue of genetically modified (GM) food. Critics of both are concerned
that these large businesses will leverage their economic and political power to defeat attempts
to regulate or restrain the spread of genetic engineering in agriculture, or leverage intellectual
property rights in GMOs to unfair advantage over their competitors, against the interests of
users and consumers of their products, and to the detriment of the environment.

A reason given in support of patents is that they provide an economic incentive for the
creation of new and useful inventions by temporarily rewarding the inventor with monopoly
profits. The patent holder has certain exclusive rights to the exploitation of his invention,
which may result in significant economic rewards. However, consumers may choose to buy
rival products, and the lifetime of the patent is limited. Simple possession of a naturally
occurring seed (free from patent restrictions) gives one the ability and the legal nght to grow
crops from the seed, to modify the breed, apd to sell, exchange, or share the seed as one sees
fit. With patent rights, however, the inventor (often a large corporation) may choose to
restrict how farmers may use a given organism, in order to extractthe economic value of each
type of use, and to extract economic value from each user. Critics of GMOs and corporations
say that these rights give already powerful corporations an even greater advantage, and in a
way which disrupts millennia-old agricultural practices. Supporters of genetic engineering
emphasize the potential benefits in nutrition, reduced environmental impact, ami:
productivity that may be possible with the technology.

21- we may understand from the first paragraph that ....................
1) large businesses encourage agricultural genetic engineering
2) economic and political power is needed to consume GM foods
3) genetically modified food is produced even by its strong critics
4) GM products do not have many competitors in large companies
21-which of the following statements about patents is NOT TRUE according to the passage?

1) They last noly for a fixed period of time: 2) They open up choices for rival products.
3) Their holders has exclusive rights to its profits. 4) Their holders can make use of it the way
they want.

23- The passage point to the fact that .eieieennnnnnsinne...

1) patents on GMOs are mainly used only for financial gain.

2) ancient agricultural practices can lead to the production of GMOs
3) corporations restrict the way organisms can be consumed

4) there is free patent restriction fer naturally occurring seeds

24- According to the passage, genetic engineering may lead 10 ...ccvveerananns
1) more frequent harvests 2) a healthier environment
3) reduced cost of production 4) better quality food products

25- The word * detriment’ in the passage (underlined) is best related to .............
1) ‘cost’ 2) ‘advantage’ 3) ‘produce’ 4) ‘power’
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- In intemational trade parlance, when a company from country A sells a commodity below the
cost of production into country B, this is called "dumping”. A number of countries that are
signatories to multilateral trade agreements have provisions that prohibit this practice. When
rich countries subsidize domestic production, excess output is often given to the developing
world as foreign aid. This process eliminates the domestic market for agricultural products in
the developing world, because the products can be obtained for free from western aid
agencies, In developing nations where these effects are most severe, small farmers could no
longer afford basic inputs and were forced to sell their land. According to The Institute for
Agriculture and Trade Policy, corn, soybeans, cotton, wheat and rice are sold below the cost
of production, or dumped. Dumping rates are approximately forty percent for wheat, between
twenty-five and thirty percent for corn (maize), approximately thirty percent for soybeans,
fifty-seven percent for cotton, and approximately twenty percent for rice. If developed
nations eliminated subsidy programs, the export value of agriculture in lesser developed
nations would increase by 24 %, plus a further 5.5 % from tariff equilibrium. Exporters can
offer US surpluses for sale at prices arolind half the cost of production; destroying local
agriculture and creating a captive market in the process. Free trade advocates desire the
elimination of all market distorting mechanisms (subsidies, tariffs, regulations) and argue
that, as with free trade in all areas, this will result in aggregate benefit for all. This position is
particularly popular in competitive agricultural exporting nations in both the developed and
developing world.

26- We understand from the passage that .......... [
1) dumping does not apply to luxury agricultural commodities
2) multilateral trade agreements are nearly all against dumping
3) not all countries formally accept that dumping should be stopped
4) foreign aid to developingcountries is subsidized by rich countnes
27-The passage points to the fact that .. .
1) cotton gets the highest dumping Iﬂ.tﬂ among agmulturﬂl products
2) the domestic market in developed countries is heavily subsidized
3} there 15 dumping for cornand soybeans even in the developed world
4) some farmers in developing countries get direct aid from western agencies
28- We can understand from the passage that ..
1) the combined export value in developed natmns can l:rc as high as 29.5%
2) market distorting mechanisms can potentially half the cost of production
3) competitive agricultural exporting nations do not basically support tariffs
4) dumping is sometimes essential if agricultural policies are to be successful
29- The expression *captive market’ in the passage (underlined) refers to a situation in which
1} tht‘: rnarkct 1s heavily subsidized only for domestic products
2)buyers.and sellers have to operate in a loss-making environment
3) imported products are sold at the same price as domestic products
4) customers have to buy a good or service from a particular supplier
30- The passage is generally concerned with ............ceuee,
I'yagro-economie problems in developing countries
2) the uses and abuses of dumping in today’s world
3) how dumping can be eliminated internationally
4) arpuments against market intervention
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